
REVISIONS
REV DATE DRW'N CHCK'D DESCRIPTION

A 24APR18 GFC -- INITIAL RELEASE

NOTES

1  CAD MODEL FILENAME, 872-LM8448 DummWeightAssy
 2   THIS ASSY SIMULATES MIRROR ASSY 872-LM4200 AND ATTACHES DIRECTLY
       ON THE GROOVE PLATE ASSY

ITEM QTY P/N DESCRIPTION

1 1 872-LM8580 SWING-ARM TIP/TILT INTERFACE PLATE

2 2 SHOPS 4 KG BRASS WEIGHT

3 3 SHOPS 2 KG BRASS WEIGHT

4 6 SHOPS 8 KG BRASS WEIGHT

5 3 HW THREADED ROD, 1/4-20 X 8-1/2"

6 6 H/W WASHER, FLAT, STANDARD, 1/4

7 6 H/W HEX NUT, 1/4-20

8 6 HW WASHER, FLAT, 5/16 X .732 X .08

NOTES

1  CAD MODEL FILENAME, 872-LM8448 DummWeightAssy
 2   THIS ASSY SIMULATES MIRROR ASSY 872-LM4200 AND ATTACHES DIRECTLY
       ON THE GROOVE PLATE ASSY

--PARTS LIST
1

K1D3FD

DUMMY WEIGHT ASSY (MIRROR)BREAK ALL SHARP EDGES 

--
OBSERVATORY

SW DOCUMENT FILE A

D

C

B

AA

B

C

D

12345678

8 7 6 5 4 3 2 1

DWG NO
--
--

MATERIAL

--

FINISH

--

CABAK

1

CABAK
ENGINEER

--
CABAK

DESIGNED

TOOLING & FIXTURING
CHECKED

KECK 1 DEPLOYABLE TERTIARY MIRROR

872-LM8448
& CORNERS .002" MAX

PROJECT CODE

NEXT ASSY

TITLE

DRAWNUNLESS OTHERWISE NOTED DIMENSIONS ARE
IN INCHES & TOLERANCES ARE AS FOLLOWS

   X.X: 0.1000"         X.XX: 0.0100"
X.XXX: 0.0050"      X.XXXX: 0.0001"

ANGLES: 0.5    FINISH: 125 MICRO INCHES

LICK
1

 9
.5

 

 2.0 

 5.3 

4

6

3

8

2

6

1

8

5

7

7


